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(d ) ___There are four ways of descrits E o
“ 7 the probablhty that a dlagnostlc test makes a correct decision
o ] S First, in (b-i), we see the probability that the test would be page
tive if one had Down Syndreme. Second, in (b-ii), we see the"
. probability that the test would be negative given that one da@
not have Down Syndrome. In (c-i), we see the probability t_L%
.- one would have Down Syndrome if the test is positive. Finalix

in (c-ii). we see the probability that one would not have Doc&%
- Syndrome given a negative test.
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